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NEB - GRADE XII

Principles of Accounting - II

ljBfyL{x¿n] ;s];Dd cfkm\g} zAbdf pQ/ lbg'kg]{5 . bfof“ lsgf/fdf lbOPsf] cª\sn] k"0ff{ª\s
hgfp“b5 .

Candidates are required to give their answers in their own words as far as
practicable. The figures in the margin indicate full marks.

Time: 3 hrs. Full Marks: 100
Pass Marks: 35 (For partial students only)

;a} k|Zgsf] pQ/ lbg'xf];\ . (Attempt all the questions)

!= klAns lnld6]8 sDkgLsf] s'g} tLgj6f ljz]iftfx? 5f]6s/Ldf n]Vg'xf];\ . #
Write in brief any three features of Public Limited Company.

@= k|jGw kqsf] kl/efiff n]Vg'xf];\ . @
Define Memorandum of Association.

#= ljQLo ljj/0f ljZn]if0fsf] cy{;lxt o;sf s'g} b'O{j6f p2]Zox? pNn]v ug'{xf];\ . !+@
State the meaning of financial statement analysis. Also mention any two
objectives of it.

$= cg'kft ljZn]if0fsf s'g} b'O{j6f ;Ldfx? n]Vg'xf];\ . @
Write any two limitations of ratio analysis.

%= nfut n]vf eGgfn] s] a'‰g'x'G5 < o;sf] s'g} Pp6f ;Ldf pNn]v ug'{xf];\ . @+!
What do you mean by cost account ? Mention any one limitation of it.

^= l:y/ nfutsf] cy{ pbfx/0f ;lxt k|i6\ofpg'xf];\ . @
Clarify the meaning of fixed cost with suitable example.

&= ;fdu|L lgoGq0fsf] cy{ n]Vg'xf];\ . @
Give the meaning of material control.

*= ck|ToIf ;fdu|L / ck|ToIf Hofnfsf] cy{ pbfx/0f;lxt k|i6\ofpg'xf];\ . #
Clarify the meaning of indirect material and indirect labour with suitable
example.
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(= Pp6f sDkgLn] ?= !)) c+ lst d"No ePsf !)% 5'6df hf/L ul/Psf $)) z]o/sf] clGtd
ls:tf ?= #) glt/]sf]n] hkmt ul/of] . tL dWo] #)) z]o/ ? *% sf] b/n] k'gM hf/L
ul/of] .
A company forfeited 400 shares @ Rs. 100 each issued at 10% discount
for non-payment of Rs. 30 per share on final call. Out of these, 300 shares
were re-issued at Rs.85 per share as fully paid up.

tof/ ug'{xf];\ (Required): !+!+!
z]o/sf] hkmt, k'gM hf/L / /sdfGt/sf] ef}r/
Entries for forfeiture, re-issue and transfer

!)= Pp6f sDkgLn] ? !)) b/sf ^))) lsQf z]o/ ? !% k|lt lsQf cltl/Qm /sd ;lxt
lgDgfg';f/ e'QmfgL ug]{ u/L hf/L u¥of] .

A company issued 6,000 share of Rs. 100 each at Rs. 15 per share as
premium payable as follows :

cfj]bg ;fy (On application) Rs. 30

af“8kmf“8df (On allotment) Rs. 55

k|yd tyf clGtd ls:tfdf (On 1st and final call)  Rs. 30

!),))) z]o/sf] nflu cfj]bg k|fKt ePsf]df @,))) cfj]bg /2 u/L af“sL cfj]bgnfO{
;fdfg'kflts ?kdf af“8kmf“8 ul/of] .
Application received for 10,000 share out of which 2,000 applications were
rejected and remaining applications allotted on pro-rata basis.

cfj]bg;fy k|fKt a9L /sd af“8kmf“8df k|of]u ul/of]  . @)) lsQf z]o/df k|yd tyf
clGtd ls:tf afx]s cGo ;a} /sd k|fKt eof] .

Excess application money were utilize towards due on allotment. All money
were duly received except one shareholder holding 200 share failed to pay
first and final call money.

tof/ ug'{xf];\ (Required): @+@+@
cfj]bg, af“8kmf“8 / k|yd tyf clGtd ls:tfsf ef}r/x?
Entries for application, allotment and first and final call.

!!= Pp6f sDkgLn] ? !)) b/sf ^))) z]o/ !)% 5'6df hf/L u/L lgDg ;DklQ tyf
bfloTj;lxtsf] Joj;fo v/Lb u¥of] .
A company issued 6,000 share @ 100 each at 10% discount to purchase
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the following assets and liabilities of business.
d]lzg/L (Machinery) Rs.4,00,000

cf;fdLx? (Debtors) Rs.2,00,000

df}Hbft (Stock) Rs.1,50,000

;fx'x? (Creditors) Rs. 40,000

C0f (Loan) Rs. 80,000

tof/ ug'{xf];\ (Required): #
;DklQ tyf bfloTj v/Lbsf] ef}r/x¿
Entries for purchase of assets and liabilities.

!@= Pp6f sDkgLn] ? !)) b/sf %,))), &% C0fkqx? !)% cltl/Qm /sd;lxt hf/L
u¥of] . pQm C0fkqx? !) jif{ kl5 !%% cltl/Qm /sd;lxt e'QmfgL ul/of] .
A company issued 5,000, 7% debentures of Rs. 100 each at 10% premium.
These debentures were redeemed after 10 years at 15% premium.

tof/ ug'{xf];\ (Required): $
C0fkq hf/L / lkmtf{ ef}r/x?
Entries for issue and redemption of debentures.

!#= Pp6fsf] sDkgLsf] #! r}q, @)&% sf] ;Gt'ng k/LIf0f lgDgfg';f/ 5 M
The Trial Balance of a company as on 31 Chaitra, 2075 is given below :

8]lj6 (Debit)  ?= (Rs.) s|]l86 (Credit) ?= (Rs.)

v/Lb (Purchase) 5,50,000 k"“hL (Capital) 3,00,000

d]lzg/L (Machinery) 4,00,000 ljqmL (Sales) 8,30,000

cf;fdL (Debtors) 1,00,000 C0fkq (Debentures) 50,000
Hofnf (Wages) 50,000 gfkmf gf]S;fg vftf

nufgL (Investments) 1,00,000 (Profit & Loss a/c) 60,000

ef8f (Rent) 40,000
12,40,000 12,40,000

yk hfgsf/L (Additional information):

a) ltg{ af“sL Hofnf (Wages payable): Rs. 10,000

b) k|:tfljt nfef+z (Proposed Dividend): 10%

c) clu|d ef8f e'QmfgL (Pre-paid rent): 5,000

tof/ ug'{xf];\ (Required): #+%
;dfof]hg ef}r/x? / sfo{ ljj/0f (Entries for Adjustment and Work Sheet)
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!$= ut jif{ #! r}qsf] ;Gt'ng k/LIf0f lgDgfg';f/ 5 M
Trial Balance as on 31 Chaitra, last year is given below :

8]lj6 (Debit)    ?= (Rs.) s|]l86 (Credit) ?= (Rs.)

d]lzg/L (Machinery) 2,00,000 ljqmL (Sales) 5,15,000

cf;fdLx? (Debtors) 1,00,000 ltg{ af“sL Hofnf (Wages Payable) 10,000

a}+s df}Hbft (Bank balance) 60,000 &% C0fkq (7% Debentures) 1,00,000

v/Lb (Purchases) 4,50,000 gfkmf gf]S;fg vftf
ljqmLdf 5'6(Discount on sales) 10,000 (P/L appropriation a/c) 75,000

Hofnf (Wages) 20,000 z]o/ k"“hL (Share capital) 2,50,000

tna (Salaries) 50,000 ;fx'x? (Creditors) 40,000

9'jfgL (Carriage) 15,000

gp7\g] cf;fdL (Bad debts) 5,000

z'? df}Hbft (Opening Stock) 60,000

clu|d aLdf(Pre-paid insurance) 20,000

9,90,000 9,90,000

yk hfgsf/L (Additional information):

a) clGtd df}Hbft (Closing stock):  Rs. 2,00,000

b) aLdf vr{ (Pre-paid insurance expired): Rs. 15,000

c) ltg{ af“sL Hofnf (Wages payable) : Rs. 5,000

d) s/ Joj:yf (Make a provision for tax): Rs. 15,000

e) k|:tfljt nfef+z (Proposed Dividend): @ 10%

tof/ ug'{xf];\ (Required): #+$+!+$
i) Jofkf/ vftf (Trading Account)

ii) gfkmf gf]S;fg vftf (Profit and Loss Account)

iii) gfkmf gf]S;fg af“8kmf“8 vftf (Profit and Loss Appropriation Account)

iv) jf;nft (Balance Sheet)

!%= lgDg ljj/0fx? lbOPsf 5g\ M
Following information are provided:
l:y/ ;DklQ (Fixed Assets): Rs. 1,00,000

rfn' cg'kft (Current Ratio): 3.5:1

rfn' ;DklQ (Current Assets): Rs. 1,40,000

cf;fdL kl/rfng cg'kft (Debtors Turnover):   5 times
qmdzM(Contd...)

224 (4)



ljqmL (Sales): Rs. 3,50,000

s'n gfkmf (Gross Profit): Rs. 40,000

tof/ ug'{xf];\ (Required): !=%+!=%+!+!
i) rfn' bfloTj (Current Liabilities)

ii) cf;fdLx? (Debtors)

iii) l:y/ ;DklQ kl/rfng cg'kft (Fixed Assets Turnover Ratio)

iv) s'n gfkmf cg'kft (Gross Profit Ratio)

!^= lgDg hfgsf/Lx? tn lbOPsf 5g\ M
Following information are given below:
ljj/0f (Particular) 2074 (Rs) 2075(Rs.)

z]o/ k"“hL (Share capital) 8,00,000 9,00,000

!)% C0fkq (10% debentures) 4,00,000 3,00,000

gfkmf gf]S;fg vftf (P/L Account) 80,000 1,60,000

VoftL  (Good will) 48,000 44,000

yk hfgsf/L (Additional information):

a) nfef+z ljt/0f (Dividend paid): Rs. 50,000

b) x«f;s§L (Depreciation charge): Rs. 30,000

c) l:y/ ;DklQ v/Lb (Fixed assets purchased) : Rs. 1,40,000

tof/ ug'{xf];\ (Required): @+#
i) ;+rfng k|fKt sf]if (Funds from operation)

ii) sf]if k|jfx ljj/0f (Funds flow statement)

!&= ;DklQ / bfloTjsf] clGtd df}Hbft o; k|sf/ 5 M
The closing balance of assets and liabilities are given below :
ljj/0f (Particular) Year-I (Rs) Year-II(Rs.)

z]o/ k"“hL (Share capital) 2,00,000 4,00,000

C0F (Loan) 1,00,000 2,00,000

;fx' (Creditors) 80,000 1,40,000

df}Hbft (Inventories) 2,40,000 3,00,000

cf;fdL (Debtors) 1,50,000 1,80,000

nufgL (Investment) 2,00,000 1,00,000

clu|d vr{ (Pre-paid expenses) 80,000 40,000

gub (Cash) 1,60,000 ?
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yk hfgsf/L (Additional information):

a) bf];|f] jif{df ljqmL (Sales during the II year): Rs. 20,00,000

b) ljqmL nfut (Cost of goods sold): Rs. 14,00,000

c) sfof{no vr{ (Office expenses): Rs. 1,00,000

d) ljqmL vr{ (Selling expenses): Rs. 80,000

e) kmlg{r/ ljqmL (Sale of furniture): Rs. 50,000

f) d]lzg/L v/Lb (Purchased machine): Rs. 3,00,000

g) s/ r'Qmf (Tax paid): Rs. 30,000

h) nfef+z ljt/0f (Dividend distributed): Rs. 20,000

tof/ ug'{xf];\ (Required): %+@+@+!
gub k|jfx ljj/0f (Cash flow statement)

!*= ;fdu|L v/Lb ;DaGwL ljj/0f lgDgfg';f/ 5g\ M
The material purchase details are as under :

jflif{s vkt (Annual requirement ): Rs. 20,000 units

k|lt v/Lb cfb]z nfut (Ordering cost per order ): Rs. 400

eG8f/ nfut k|lt yfg (Carrying cost per unit): 2%

k|lt yfg nfut (Cost per unit): Rs.200

tof/ ug'{xf];\ (Required): @
sd vlr{nf] v/Lb kl/df0f (Economic order quantity)

!(= lgDg hfgsf/Lx? lbOPsf 5g\ (The following information are provided) :

! yfg ;fdfg pTkfbg ug{ tf]lsPsf] ;do #) ldg]6
(Standard time for one unit of output ): 30 minutes

k|lt 306f Hofnf (Hourly wage rate): Rs. 200

pTkflbt ;fdfg PsfO{ (Produced units): 100 units

tof/ ug'{xf];\ (Required): @
>ldssf] Hofnf (Earning by the workers)

@)= r}q dlxgfsf] e08f/ sf/f]jf/x? lgDgfg';f/ 5g\ M
Following are the store transactions for the month of Chaitra :
r}q ! (Chaitra1):   z'? df}Hbft(Opening stock): 1000 units @ Rs.9 each

r}q ^ (Chaitra 6): v/Lb (Purchases): 1000 units @ Rs.10 each
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r}q * (Chaitra 8): lgsfzL (Issued): 1500 units

r}q !% (Chaitra 15):v/Lb (Purchases): 700 units @ Rs.11 each

r}q @! (Chaitra 21):v/Lb lkmtf{ (Purchase return):  200 units @ Rs. 10 each

r}q @% (Chaitra 25):lgsfzL (Issued): 600 units

r}q @( (Chaitra 29):ef}lts k/LIf0fdf gk'u
(Shortage in stock verification): 10 units

tof/ ug'{xf];\ (Required): %
k|yd bflvnf k|yd lgsfzLsf] cfwf/df lhG;L vftf .
Store ledger under First In First Out (FIFO).

@!= Pp6f pTkfbg sDkgLsf] ut jif{sf] nfut ljj/0f lgDg adf]lhd 5 M
A company showed the following details of its production cost for the
previous year :

k|ToIf ;fdu|L (Direct materials): Rs. 1,00,000

k|ToIf Hofnf (Direct wages): Rs. 50,000

sf/vfgf vr{ (Factory overhead): Rs. 40,000

sfof{no vr{ (Office overhead): Rs. 38,000

sDkgLn] o; jif{ %)) uf]6f ;fdfg pTkfbg ubf{ nfUg] s'n pTkfbg nfut / ljqmL d"No
lgwf{/0f ug{ rfxG5 . o;sf] nflu nfut ljefun] lgDgfg';f/ cg'dfg u/]sf] 5 .
The company wants to estimate the total cost and selling price for 500
units. The costing department estimate the cost for :

k|ToIf ;fdu|L (Direct materials): Rs. 500

k|ToIf Hofnf (Direct wages): Rs. 400

ck|ToIf vr{x? lgDgfg';f/ ljnog ul/G5 M
Overheads are to be allocated as under :

a) sf/vfgf vr{ M k|ToIf Hofnfsf] cfwf/df
    Work overhead : On the basis of direct wages
b) sfof{no vr{ M sf/vfgf nfutsf] cfwf/df
    Office overhead : On the basis of work cost
c) gfkmf (Profit)M 20% of sales.

tof/ ug'{xf];\ (Required): $+^
i) nfut ljj/0f (Cost sheet)

ii) 6]08/ ljj/0f (Tender sheet)
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@@= ljQLo vftf cg';f/ Pp6f sDkgLsf] d'gfkmf ?= $),))) 5 . nfut tyf ljQLo n]vf t\'ngf
ubf{ lgDg tYox? kfOof] .
The net profit shown by financial account Rs. 40,000. On comparison of
cost and financial accounts the following facts were disclosed.

a) ljQLo n]vfdf Jofh k|fKt ?= %,)))
Interest credited in financial account Rs. 5,000.

b) sfof{no vr{ ljQLo n]vfdf ?= ̂ ,))) a9L b]lvof]
Office expenses over recovered in financial account Rs. 6,000.

c) cfos/ lt/]sf] ?= $,)))
Income tax paid Rs. 4,000.

d) clGtd df}Hbft ljQLo n]vfdf a9L b]vfPsf] ?= !),)))
Closing stock over valuation in financial a/c Rs. 10,000.

tof/ ug'{xf];\ (Required): %
nfut tyf ljQLo n]vfsf] lx;fa ldnfg ljj/0f .
Reconciliation statement of cost  and financial account.
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